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Question ID : 4410091155433
Option 11D : 4410094556461
Option 2 ID : 4410094556458
Option 3 1D : 4410094556460
Option 4 ID : 4410094556459
Status : Answered
Chosen Option : 4

Q.2 SHrd (Froso s mgh) O F3S° &od?
Ans X 1. dogrg 363

o 2. 535 Sosoen

X 3. oy Sehosien

5 4. 05D Fed

Question ID : 4410091128055
Option 11D : 4410094447775
Option 2 ID : 4410094447772
Option 3 ID : 4410094447773
Option 4 ID : 4410094447774
Status : Answered
Chosen Option : 1
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Question ID : 44100936619
Option 11D : 441009145978
Option 2 ID : 441009145979
Option 31D : 441009145977
Option 4 1D : 441009145980
Status : Answered
Chosen Option : 3
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Question ID : 44100929543
Option 11D : 441009117640
Option 2 ID : 441009117639
Option 31D : 441009117638
Option 4 ID : 441009117637
Status : Answered
Chosen Option : 4
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Question ID : 4410091143903
Option 11D : 4410094510574
Option 2 ID : 4410094510572
Option 3 ID : 4410094510575
Option 4 ID : 4410094510573
Status : Answered
Chosen Option: 3
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Question ID : 44100929521
Option 11D : 441009117555
Option 2 ID : 441009117554
Option 31D : 441009117553
Option 4 ID : 441009117552
Status : Answered
Chosen Option : 2
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Question ID : 4410091124252
Option 1 1D : 4410094432573
Option 2 ID : 4410094432576
Option 3 ID : 4410094432575
Option 4 ID : 4410094432574
Status : Answered
Chosen Option : 1
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Question ID
Option 1 ID
Option 2 1D :
Option 31D
Option 41D :
Status:

Chosen Option :

1 44100941346
: 441009164925

441009164926

1 441009164924

441009164927
Answered
3
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Q.9 Which event marked the start of the Second World War, in which India, as a British colony,
was automatically involved?

Ans X 1.The Japanese invasion of Manchuria
«# 2. The invasion of Poland by Germany
/5 3. The German invasion of France

/5 4. The Japanese attack on Pearl Harbor

Question ID : 4410091124288
Option 11D : 4410094432720
Option 2 ID : 4410094432718
Option 3 1D : 4410094432719
Option 4 ID : 4410094432717
Status : Answered
Chosen Option : 3
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Question ID : 4410091124251
Option 1 1D : 4410094432570
Option 2 ID : 4410094432571
Option 3 ID : 4410094432572
Option 4 1D : 4410094432569
Status : Answered
Chosen Option : 1
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Question ID : 4410091143901
Option 1 ID : 4410094510565
Option 2 ID : 4410094510567
Option 3 1D : 4410094510564
Option 4 ID : 4410094510566
Status : Answered
Chosen Option : 4
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Question ID : 4410091124257
Option 11D : 4410094432594
Option 2 ID : 4410094432595
Option 3 1D : 4410094432596
Option 4 ID : 4410094432593
Status : Answered
Chosen Option : 4
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Question ID : 4410091124292
Option 11D : 4410094432736
Option 2 ID : 4410094432734
Option 3 ID : 4410094432733
Option 4 ID : 4410094432735
Status : Answered
Chosen Option : 1
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Question ID : 4410091155418
Option 11D : 4410094556401
Option 2 ID : 4410094556399
Option 3 1D : 4410094556400
Option 4 ID : 4410094556398
Status : Answered
Chosen Option : 2
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Question ID : 4410091120193
Option 11D : 4410094416660
Option 2 ID : 4410094416661
Option 31D : 4410094416658
Option 4 ID : 4410094416659
Status : Answered
Chosen Option : 1
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Question ID : 4410091128027
Option 1 1D : 4410094447663
Option 2 ID : 4410094447661
Option 3 ID : 4410094447660
Option 4 ID : 4410094447662
Status : Answered
Chosen Option : 4
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Question ID : 44100929312
Option 11D : 441009116728
Option 2 ID : 441009116726
Option 31D : 441009116727
Option 4 ID : 441009116729
Status : Answered
Chosen Option : 2
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Question ID : 4410091124289
Option 11D : 4410094432724
Option 2 ID : 4410094432723
Option 31D : 4410094432722
Option 4 1D : 4410094432721
Status : Answered
Chosen Option : 4
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Question ID : 4410091143255
Option 11D : 4410094508005
Option 2 ID : 4410094508006
Option 3 ID : 4410094508007
Option 4 ID : 4410094508004
Status : Answered
Chosen Option: 2
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Question ID : 4410091118847
Option 11D : 4410094411279
Option 2 ID : 4410094411278
Option 3 ID : 4410094411281
Option 4 ID : 4410094411280
Status : Answered
Chosen Option : 3
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Question ID : 441009866027
Option 11D : 4410093417235
Option 2 ID : 4410093417232
Option 31D : 4410093417234
Option 4 ID : 4410093417233
Status : Answered
Chosen Option : 1

Q.22 YSR K058 A°)e3 180D, &3 08 égemg‘ 5358 dB?

1. 28 dgen Ho80kH 662)8;»953 DEARSSE Ho¢5¢e> e0BozStioR CSQE} eHe808.
2. & SPEgES0 e90FHAES Hiyea SoBAKw OraEd ProBPerSs E56 Bood.
3. 28 5 HoSebyore Kol B SaHKyy &) DY S H8Mo.

Ans X 1.2 50805 3 S
X 2.1,2 %0805 3
o 3.1 508050 2 S5
X 4.1 58050 3 Srg

Question ID : 4410091155408
Option 11D : 4410094556359
Option 2 ID : 4410094556361
Option 3 ID : 4410094556358
Option 4 ID : 4410094556360
Status : Answered
Chosen Option : 3
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Question ID : 4410091143911
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Question ID : 44100929502
Option 11D : 441009117479
Option 2 ID : 441009117476
Option 31D : 441009117477
Option 4 1D : 441009117478
Status : Answered
Chosen Option : 2
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Question ID : 44100928950
Option 11D : 441009115277
Option 2 ID : 441009115276
Option 31D : 441009115275
Option 4 ID : 441009115274
Status : Answered
Chosen Option : 3
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Question ID : 44100925191
Option 11D : 441009100467
Option 2 ID : 441009100469
Option 31D : 441009100470
Option 4 1D : 441009100468
Status : Answered
Chosen Option : 4
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Question ID : 4410091118758
Option 11D : 4410094410923
Option 2 ID : 4410094410922
Option 3 ID : 4410094410925
Option 4 ID : 4410094410924
Status : Answered
Chosen Option : 2

Q.28 "oresgo §ots erafmrahHERS Sor DAFHA0DH HEAD LOH &) D $g§ evonse, o9 HB
950508 SHo, D B3 DHaHesgo 5308 Soe ood éocs &) 083 500D D 6§§_A§ 205505563,
Bebo Srre HEAD AFEBoLSLIeEs" e gses mavsodoé's.’o D eHEBEr0 DEY0B?

Ans X 1. 908530 14
K 2. 088830 19
X 3. 0888es0 30
o 4. Q880 18

Question ID : 4410091118771
Option 11D : 4410094410974
Option 2 ID : 4410094410976
Option 3 1D : 4410094410977
Option 4 ID : 4410094410975
Status : Answered
Chosen Option : 4
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Question ID : 4410091143266
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Option 11D :
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Question ID :
Option 11D :
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Question ID :

Option 11D :
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Question ID : 4410091128046
Option 11D : 4410094447738
Option 2 ID : 4410094447736
Option 3 1D : 4410094447739
Option 4 ID : 4410094447737
Status : Answered
Chosen Option : 1
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Question ID : 441009246390
Option 11D : 441009959854
Option 2 ID : 441009959852
Option 3 ID : 441009959855
Option 4 ID : 441009959853
Status : Answered
Chosen Option : 4
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Question ID : 441009869080
Option 11D : 4410093429352
Option 2 ID : 4410093429354
Option 3 ID : 4410093429351
Option 4 ID : 4410093429353
Status : Answered
Chosen Option : 4
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Question ID : 4410091128004
Option 11D : 4410094447569
Option 2 ID : 4410094447568
Option 3 ID : 4410094447571
Option 4 1D : 4410094447570
Status : Answered
Chosen Option : 3
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Question ID : 4410091143257
Option 1 1D : 4410094508012
Option 2 ID : 4410094508014
Option 3 ID : 4410094508013
Option 4 ID : 4410094508015
Status : Answered
Chosen Option : 1
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Question ID : 4410091143278
Option 1 ID : 4410094508096
Option 2 ID : 4410094508097
Option 3 1D : 4410094508099
Option 4 ID : 4410094508098
Status : Answered
Chosen Option : 2
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Question ID : 4410091118747
Option 1 1D : 4410094410880
Option 2 ID : 4410094410881
Option 3 ID : 4410094410879
Option 4 ID : 4410094410878
Status : Answered
Chosen Option : 2
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Question ID : 4410091118836
Option 11D : 4410094411234
Option 2 ID : 4410094411236
Option 3 ID : 4410094411237
Option 4 ID : 4410094411235
Status : Answered
Chosen Option : 3
Section : General English
Q.41 Select the INCORRECTLY spelt word.
Ans X 1. Secluded
2 2. Scheduled
X 3. Segregated
" 4. Seperated
Question ID : 441009338207
Option 11D : 4410091318782
Option 2 ID : 4410091318783
Option 3 1D : 4410091318780
Option 4 ID : 4410091318781
Status : Answered
Chosen Option : 4
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Q.42 Select the most appropriate meaning of the given proverb.

All that glitters is not gold
Ans o 1. Not everything that looks good is valuable or trustworthy

< 2. Appearances always indicate true worth
25 3. Sometimes gold loses its shine

2% 4. Everything valuable shines brightly

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status:

Chosen Option :

4410091103781
4410094352482
4410094352483
4410094352484
4410094352485
Answered

1

Q.43 Select the most appropriate ANTONYM of the given word.

Gorgeous“99
Ans  #* 1. Unattractive

/5 2. Distractive

Chosen Option :

25 3. Shining
25 4. Ravishing
Question ID : 4410091103806
Option 1 1D : 4410094352583
Option 2 ID : 4410094352584
Option 3 ID : 4410094352585
Option 4 ID : 4410094352582
Status : Answered
Chosen Option : 4
Q.44 Select the most appropriate option that can substitute the underlined segment in the given
sentence.
It's unfair to criticise someone or something_in a way that shows a lack of respect or value
without understanding the challenges they faced.
Ans X 1.enrage
«# 2. disparage
X 3. extol
& 4. engage
Question ID : 4410091111973
Option 11D : 4410094384119
Option 2 ID : 4410094384118
Option 31D : 4410094384120
Option 4 ID : 4410094384117
Status : Answered

1
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Q.45 Select the most appropriate ANTONYM of the given word.

Profane93

Ans o 1. Reverent
< 2. Germane

2% 3. Blasphemous

5 4. Mundane
Question ID : 4410091103800
Option 1 ID : 4410094352559
Option 2 ID : 4410094352561
Option 31D : 4410094352558
Option 4 1D : 4410094352560
Status : Answered
Chosen Option: 3
Q.46 Select the most appropriate synonym of the given word.
Prudences5
Ans X 1. Wisdom
«” 2. Keenness
/5 3. Courage
X 4. Stateliness
Question ID : 4410091103792
Option 11D : 4410094352527
Option 2 ID : 4410094352528
Option 3 ID : 4410094352526
Option 4 ID : 4410094352529
Status : Answered
Chosen Option : 3
Q.47 Select the most appropriate option that can substitute the underlined segment in the given
sentence.
During Diwali, families gather to enhance the beauty of their homes with vibrant rangoli
designs and colourful lights to celebrate the festival of lights.
Ans X 1. moderate
5 2. hydrate
2 3. operate
" 4. decorate
Question ID : 4410091111980
Option 1 ID : 4410094384145
Option 2 ID : 4410094384148
Option 31D : 4410094384147
Option 4 ID : 4410094384146
Status : Answered
Chosen Option : 4
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Spill the beans242
Ans X 1. Clean up a mess

#< 2. Drop food on the floor
2% 3. Closely approach someone

«# 4. Share a secret or reveal information

Q.48 Select the most appropriate meaning of the given idiom.

Question ID : 4410091103949
Option 11D : 4410094353154
Option 2 ID : 4410094353156
Option 3 ID : 4410094353157
Option 4 ID : 4410094353155
Status : Answered
Chosen Option : 4
Q.49 Select the option that can be used as a one-word substitute for the underlined group of
words.
His unusual and shocking behaviour without being_afraid of consequences became clear
when he boldly confronted the company CEO about their unethical practices.
Ans X 1. pertinence
" 2. chutzpah
2 3. ballyhoo
5 4. snafu
Question ID : 4410091111966
Option 11D : 4410094384092
Option 2 ID : 4410094384091
Option 3 ID : 4410094384090
Option 4 ID : 4410094384089
Status : Answered
Chosen Option : 2
Q.50 Identify the INCORRECTLY spelt word.
Ans 1. Deficency
25 2. Garrulous
5 3. Pseudonym
X 4. Proficient
Question ID : 441009344073
Option 11D : 4410091342255
Option 2 ID : 4410091342253
Option 3 ID : 4410091342256
Option 4 ID : 4410091342254
Status : Answered
Chosen Option : 1

Section : Mental Ability
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Q.51 A, B, C, D, E and F live on six different floors of the same building. The lowermost floor in the
building is numbered 1, the floor above it is numbered 2 and so on till the topmost floor,
which is numbered 6. B lives on an even-numbered floor but not on floor number 2. A does
not live on the topmost floor. D lives immediately below F. E lives immediately above B.
Exactly three people live between E and A. Who lives on floor number 1?

Ans X 1.C
X 2D
& 3.E
o 4.A

Question ID : 4410091149765
Option 11D : 4410094534018
Option 2 ID : 4410094534019
Option 3 1D : 4410094534017
Option 4 ID : 4410094534016
Status : Not Answered
Chosen Option : --

Q.52 Read the given statements and conclusions carefully. Assuming that the
information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions
logically follow(s) from the statements.

Statements:
All almonds are cashews.
All almonds are dates.

Conclusions:
(I) : Some cashews are dates.
(11) : All dates are almonds.

Ans X 1.0nly conclusion (Il) follows
25 2. Both conclusions (1) and (Il) follow
+¥ 3. Only conclusion (1) follows

25 4. Neither conclusion (1) nor (I1) follows

Question ID : 4410091149840
Option 1 1D : 4410094534317
Option 2 ID : 4410094534319
Option 3 1D : 4410094534316
Option 4 ID : 4410094534318
Status : Answered
Chosen Option : 3
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Q.53 Refer to the given series and answer the question that follows. (All numbers are single digit
numbers only.) Counting to be done from left to right only.

(Left)36968777126551742356861283 4 (Right)

How many such odd numbers are there, each of which is immediately preceded by an even
number and also immediately followed by an even number?4899

Ans X 1.4
X 2.2
X 3.5
o 4.3

Question ID : 4410091149694
Option 1 ID : 4410094533733
Option 2 ID : 4410094533734
Option 3 ID : 4410094533735
Option 4 1D : 4410094533732
Status : Answered
Chosen Option : 4

Q.54 Based on the English alphabetical order, three of the following four letter-clusters are alike in
a certain way and thus form a group. Which letter-cluster DOES NOT belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in
the letter-cluster.)4946

Ans X 1.UTP
& 2.BBW

X 3.1HD
X 4.GFB

Question ID : 4410091149741

Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

4410094533922
4410094533920
4410094533921
4410094533923
Answered

2
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Q.55 $72)850(?) A50S° eoDSKth FeBD &8 Korr 458 BD Do ABWES Jode Ko

A ek OL %o g
% JIF ole OO0 K

O x
X1
e
x O
x2
1 @
® O
xs
-
O @
Y r

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

4410091144711
4410094513803
4410094513802
4410094513801
4410094513800
Answered

4
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Q.56 Select the pair that follows the same pattern as that followed by the two set of pairs given
below. Both pairs follow the same pattern.

XUW-ZWY
EBD-GDF4921

Ans X 1.CYZ-DAC
« 2. CZB-EBD
X 3.CzB-DBC
X 4.CYZ-EBD

Question ID : 4410091149716
Option 1 1D : 4410094533823
Option 2 ID : 4410094533820
Option 3 1D : 4410094533821
Option 4 ID : 4410094533822
Status : Answered
Chosen Option : 2

Q.57 A man walks 500 m southward, he turns left and walks ‘X’ m. If his shortest distance from the
starting point is 1300 m, what is the value of 'X'?

Ans 2 1.1300m
2 2.1800 m
& 3.1200m
X 4.800m

Question ID : 4410091149941
Option 1 ID : 4410094534720
Option 2 ID : 4410094534722
Option 3 ID : 4410094534721
Option 4 ID : 4410094534723
Status : Answered
Chosen Option : 3

Q.58 YWYZ is related to BZBC in a certain way based on the English alphabetical order. In the

same way, MKMN is related to PNPQ. To which of the following is KIKL related, following the
same logic?5029

Ans " 1.NLNO
X 2.NLMO
X 3.NKMO
X 4. NMMT

Question ID : 4410091149824
Option 1 ID : 4410094534252
Option 2 ID : 4410094534255
Option 3 ID : 4410094534254
Option 4 ID : 4410094534253
Status : Answered
Chosen Option : 1
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options will be the water reflection of the figure?

23KLhG
}{WY

Ans X 1.53KLNhG

X2 339UTXA

v3 33KIrve
X4 23Krve

218

Q.59 If the water source is placed along X-Y, as shown in the following figure, which of the given

Question ID : 4410091144687
Option 1 1D : 4410094513705
Option 2 ID : 4410094513707
Option 3 1D : 4410094513704
Option 4 ID : 4410094513706
Status : Answered
Chosen Option : 3

belong to that group?

the letter-cluster.)4857
Ans X 1.TQ-MJ

X 2.UR-NK
o 3. FC-XX
X 4.VS-0L

Q.60 Based on the English alphabetical order, three of the following four letter-cluster pairs are
alike in a certain way and thus form a group. Which is the letter-cluster pair that DOES NOT

(Note: The odd one out is not based on the number of consonants/vowels or their position in

Question ID : 4410091149652
Option 1 ID : 4410094533565
Option 2 ID : 4410094533566
Option 3 1D : 4410094533564
Option 4 ID : 4410094533567
Status : Answered
Chosen Option: 3
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Q.61 Read the given statements and conclusions carefully. Assuming that the
information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions
logically follow(s) from the statements.

Statements:
Some fruits are vegetables.
All juices are vegetables.

Conclusions:
(1) : Some fruits are juices.
(11) : All vegetables are juices.

Ans & 1. Neither conclusion (1) nor (Il) follows
< 2. Both conclusions (1) and (II) follow
2% 3. Only conclusion (Il) follows

2% 4. Only conclusion (I) follows

Question ID : 4410091149839
Option 1 ID : 4410094534312
Option 2 ID : 4410094534313
Option 31D : 4410094534314
Option 4 ID : 4410094534315
Status : Answered
Chosen Option : 1

Q.62 A, B, C, D, 0, P 5805 Q e D¢k B e 2u8mmdP 25668 drossergron, S0 e SHB8Mm
233 £500&5° €0t YS 05580 Sés. C 8 25 Sarecd D&en Ssegsd &ocSeatzeon. 0 SrBotn C
B3655 208 DG B0 D erotS2tod. 0 580y P Hr¢8g Hasoehy dBew H50¢83 esocSeogron. P
03B CE 8 D& 208 HBF0S® 50520808, A 038 P & e55e95% §o¢S r0c523G0d. B 03B D &
25 D& 208 HBF0S® e50520808. Q D O & SKeasdd 28 S 55eadd §oés oSS, D 28
eo¢bgods 808 §°§oe‘)’s 052365087

Ans X 1.P
X 2.A
o 3.D
X 4.Q

Question ID : 4410091149829
Option 11D : 4410094534274
Option 2 ID : 4410094534272
Option 3 ID : 4410094534273
Option 4 ID : 4410094534275
Status : Answered
Chosen Option : 3
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Q.63 In a certain code language,

‘A + B' means ‘A is the son of B’,

‘A — B'means ‘A is the father of B’,

'A x B' means ‘A is the daughter of B’ and
‘A + B' means ‘A is the mother of B'.

Howis Mrelatedto Tif MxQ-R+S+T'?5101
Ans X 1. Wife

25 2. Daughter
2 3. Brother
" 4. Sister

Question ID : 4410091149896
Option 1 1D : 4410094534543
Option 2 ID : 4410094534542
Option 3 ID : 4410094534541
Option 4 ID : 4410094534540
Status : Answered
Chosen Option : 4

Q.64 L, M, N, O, X, Y and Z are sitting around a circular table facing the centre.
Only Z sits between O and L. L sits third to the left of X. Y sits to the immediate left of X. N is
not an immediate neighbour of L.
Who sits second to the right of M?5112

Ans X 1.0
X 2.N
& 3.X
X 4.M

Question ID : 4410091149913
Option 11D : 4410094534609
Option 2 ID : 4410094534610
Option 3 1D : 4410094534608
Option 4 ID : 4410094534611
Status : Answered
Chosen Option : 3

Q.65 Zoya walks 800 m in the west, she turns right and walks 800 m, and again she turns right and
walks 1400 m. What is the shortest distance between her starting point to her current
location and in which direction is she with respect to the starting point?5142

Ans " 1.1000 m, North-East
25 2.2200 m, North-West
25 3.3000 m, North-East
& 4.1600 m, North-West

Question ID : 4410091149937
Option 11D : 4410094534704
Option 2 ID : 4410094534707
Option 3 ID : 4410094534706
Option 4 1D : 4410094534705
Status : Answered
Chosen Option : 1
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Q.66 2SS DgHEs0 afesr 5820, Stoaoes QNS é"‘éé DSseEeSo aéso&. AN
Ddzgerreres®D Somgen Swegs DBz Derghre Boggd Ho8ok oo 3§ H°56
$500%0065% 508 e oH/AeAassee
AeEeEes JoEDA) KHed0d.

x5

Coca cola

Apple juice Milkshake

[V LTARCUA LS

Coca cola - &%se &%
Milkshake - o5y, HE
Apple juice - esdé& 23mgS

i FAofrers’ Sae Qe ArAoiren SHot, MSYRED JochHiH S dorgen
N0es8008?
Ans X 1.104
* 2.139
* 3.70

o 4174

Question ID : 4410091149930
Option 1 1D : 4410094534678
Option 2 ID : 4410094534676
Option 3 ID : 4410094534679
Option 4 ID : 4410094534677
Status : Answered
Chosen Option : 4

Q.67 A, B, C, D, E and F live on six different floors of the same building. The lowermost floor in the
building is numbered 1, the floor above it is numbered 2 and so on till the topmost floor is
numbered 6. A lives on an even-numbered floor but not 4. The sum of floors on which A and
C live is 9. Only 3 people live between B and F. The sum of floors on which E and F live is 3.
What is the sum of floors on which C and D live?5064

Ans X 1.8
2.7
X 3.6
X 45

Question ID : 4410091149859
Option 11D : 4410094534395
Option 2 ID : 4410094534394
Option 3 1D : 4410094534393
Option 4 ID : 4410094534392
Status : Answered
Chosen Option : 2
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Q.68 2S 38565-'0 éi"&ggo ? g"&’)oé’s O oo*d?
-3, 26, 57,90, 125, ?
Ans X 1.166
X 2.156
 3.162
X 4.136

Question ID : 4410091152152
Option 1 1D : 4410094543521
Option 2 ID : 4410094543519
Option 3 ID : 4410094543520
Option 4 ID : 4410094543518
Status : Answered
Chosen Option : 2

Q.69 Read the given statements and conclusions carefully. Assuming that the
information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions
logically follow(s) from the statements.

Statements:
All Fictions are Nonfictions.
Some Nonfictions are Poetries.

Conclusions:
I: Some Fictions are Poetries.
1I: No Poetries are Fictions.5012

Ans &# 1. Neither conclusion (1) nor (Il) follows
25 2. Both conclusions (1) and (Il) follow
25 3. Only conclusion (I) follows
25 4. Only conclusion (Il) follows

Question ID : 4410091149807
Option 11D : 4410094534186
Option 2 ID : 4410094534187
Option 3 ID : 4410094534184
Option 4 ID : 4410094534185
Status : Answered
Chosen Option : 2
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Q.70 Refer to the given letter series and answer the question that follows. Counting to be done
from left to right only.

(Lef) WVIPDNBOPOLUIOLDOGWEAY (Right)

How many such consonants are there, each of which is immediately preceded by a consonant
and also immediately followed by a vowel?4281

Ans X 1.2
o 2.4
3.1
X 4.5

Question ID : 4410091149676
Option 1 ID : 4410094533661
Option 2 ID : 4410094533660
Option 3 ID : 4410094533662
Option 4 ID : 4410094533663
Status : Answered
Chosen Option : 4

Q.71 CLASSIC &3 $H¢50685° B eo:SyySo egotf e £50065° o3P Somges Hi3y 9Eoed 518050
BB Srens esof KB §50065° ord Snoch SFy 0FoeS S528y S, &z Deforr DEYES 5
@58 5B7°KP0S® 808 T2EBS® Vet Hr0& TS Ko DO e9)ehr0d?

Ans X 1.E
X2y
 3.R
X 4U

Question ID : 4410091149680
Option 1 1D : 4410094533677
Option 2 ID : 4410094533679
Option 3 1D : 4410094533676
Option 4 ID : 4410094533678
Status : Answered
Chosen Option: 3

Q.72 Refer to the given number, symbol series and answer the question that follows. Counting to
be done from left to right only.

(Lef) 6 @8€1#37£%35E@44£9€%&@ (Right)

How many such symbols are there, each of which is immediately preceded by a number and
also immediately followed by a number?4904

Ans X 1.6
X 2.3
& 3.4
X 4.5

Question ID : 4410091149699
Option 1 ID : 4410094533755
Option 2 ID : 4410094533754
Option 3 ID : 4410094533752
Option 4 ID : 4410094533753
Status : Answered
Chosen Option: 3
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e 856 B2SSE, es 30365° ‘olive’ derw §°& BSahHercsrebrod?4986
Ans X 1.xn

X 2.cq
K 3.l
o 4. wv

Q.73 2.8 $Bg¥ £° 23°465%, 'house able olive’ D ‘cq wv xn' o >80 ‘olive round night’ D ‘Iv wy wv’

Question ID
Option 1 1D
Option 2 ID

Option3 1D :

Option 4 ID
Status

1 4410091149781
1 4410094534082
1 4410094534081
4410094534083

: 4410094534080
: Answered

Chosen Option : 4

@ 5% BJ3S, e3 53R S5° 'girl' So e 8 SYeth?

Q.74 2,8 DB 8% 2N6°, ‘queen song girl’ 55 ab xi my' e $s8a ‘girl menu vex' s 'rf ab ac'

Chosen Option :

Ans X 1.my
Xo2.0f
" 3.ab
&4 xi
Question ID : 4410091149773
Option 1 1D : 4410094534050
Option 2 ID : 4410094534051
Option 3 ID : 4410094534048
Option 4 ID : 4410094534049
Status : Answered
Chosen Option : 3
Q.75 In a certain code language,
‘A + B' means ‘A is the sister of B’,
‘A - B'means ‘A is the father of B’,
'A x B' means ‘A is the son of B’ and
‘A = B' means ‘A is the brother of B'.
How is Mrelatedto Rif M+ N+ QxS -R'?25102
Ans X 1. Wife
X 2. Sister
& 3. Father
" 4. Brother
Question ID : 4410091149897
Option 1 1D : 4410094534547
Option 2 ID : 4410094534546
Option 3 ID : 4410094534544
Option 4 ID : 4410094534545
Status : Answered

4
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____l____

Ans

x @

« 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status:

Chosen Option :

4410091144720
4410094513836
4410094513837
4410094513839

1 4410094513838

Answered
3
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Q.77 Seven people, A, B, C, D, E, F and G are sitting in a row, facing north. No one sits to the left of

G. Only four people sit between G and E. Only three people sit to the right of F. A sits to the
immediate left of C. B is not an immediate neighbour of F. How many people sit between A

and E?5112

K12
X 2.4
& 3.3
X 4.1

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 4410091149907
: 4410094534585
: 4410094534587
: 4410094534586
: 4410094534584
. Answered

Chosen Option :

1

Ans

information given in the statements is true, even if it appears to be at

Q.78 Read the given statements and conclusions carefully. Assuming that the

variance with commonly known facts, decide which of the given conclusions

logically follow(s) from the statements.

Statements:
All Mercuries are Venuses.
No Venuses are Earths.

Conclusions:
I: No Earths are Mercuries.
Il: Some Earths are Mercuries.5011

#< 1. Neither conclusion (1) nor (Il) follows
25 2. Only conclusion (Il) follows
«# 3. Only conclusion (1) follows

25 4. Both conclusions (1) and (Il) follow

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status:

Chosen Option :

4410091149806
4410094534182
4410094534181
4410094534180
4410094534183
Answered

3
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left of U. L is sitting third to the right of S. S is sitting second to the right of E. | is sitting
second to the right of X. Who is sitting second to the right of B?4962

Q.79 Eight persons N, E, L, S, U, |, X, and B are sitting at the circular table and facing the centre but
not necessarily in the same order. E is sitting second to the right of N. N is sitting fifth to the

Chosen Option :

Ans X 1.1
o 2.N
X 3.E
X 4x
Question ID : 4410091149757
Option 11D : 4410094533986
Option 2 ID : 4410094533987
Option 3 ID : 4410094533985
Option 4 ID : 4410094533984
Status : Answered
Chosen Option: 2
Q.80 3Dy 335D BF)Po ? Q\':Soes“ A oraed?
5,48,92,137,183,?
Ans 4 1.230
2.223
& 3.236
X 4.198
Question ID : 4410091152153
Option 11D : 4410094543524
Option 2 ID : 4410094543523
Option 3 ID : 4410094543525
Option 4 ID : 4410094543522
Status : Answered

1
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